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Sir.
Suh:  SICET {Autonomous) - Academic & Fvzluation - Academic Calendar for

I R.Tech - 1 & 1T Semester for the scademic year 2022-23 — Reg.

EE L]
The approved Academic Calendar for TT B.Tech — I & TT Semester lor the seadenic

Year 2022-23 is given below:

ACADEMIC CALENDAR - 11 B.TECH -T& I SEMESTER

ADMITTED BATCH — (2021 — 2022) of BR-20 Regnlation.
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e SR1 INDVU COUEGE OF ENGINEERING AND TECHNOLOGY
(AN AUTOMOMOUS INSTITUTION UNMDER WGC, NEW DELHL.)
Recognized under 2{F) and 12{B) of UGC Act 1956.
MB#A Accredited, Approved by AICTE and permanently affiliated to JNTUH.
SHERIGUDAN. IBRAHIMPATHAM(M). FLR. Dist, TS 501510

DEPARTMENT OF CS

OPERATING SYSTEMS LAB (R20CSE22L1)

Il B.TECH II-SEM
Course objeclives:
# To provide an understanding of design asspects of operating system concept and
simulation.
# Introduce basic unigues commands system call interface for process management, 1IPC.
Course outcomes:
* Simulate and implement operating system concepis such as scheduling deadlock
management, file management and memory management.
# Able fo implement C programmes using UNLX system calls.

LIST OF EXPERIMENTS
1. Write C programs o simulate the following CPU Scheduling algorithms,
a) FCF5 b) SJF €) Round Robin d) Priority
2. 'Write programs using the O system calls of UNDOLINUX operating systemiread, write,
close, fonil, seek, stat, opendir, readdir).
3. Write a C program to simulate Banker Algorithm for Deadlock Avoidance and
Prevention.
4. Write a C program to implement the Producer — Consumer problem using semaphores
using UNLC/LINUEK systemn calls.
5. Write a C program to illustrate the following IPC mechanisms.
a) Pipes Db)FIFOs c) Message Queues  d) Shared Memory
6. Write a C program to simulate the following memory management techniques.
d) Paging  b) Segmentation
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SRI INDU COLLEGE OF ENGINEERING & TECHNOLOGY
(AUTONOMOUS)
IBP - 501 510, Hyderabad

DEPARTMENT OF CSE
INSTITUTION VISION

To be a premier Institution in Engineering & Technology and Management with competency,values and
social consciousness.

INSTITUTION MISSION

IM1  Provide high quality academic programs, training activities and research facilities.

IM2  Promote Continuous Industry-Institute interaction for employability, Entrepreneurship,
leadership and research aptitude among stakeholders.

IM3  Contribute to the economical and technological development of the region, state andnation.

DEPARTMENT VISION
To accomplish the aspiration of emerging engineers with the knowledge of computing and design capabilities, so as to

meet the industrial, societal and global needs.

DEPARTMENT MISSION
DM1: To Produce technically competent and ethically responsible graduates through a balanced and dynamic

curriculum.

DM2: Provides the state-of-art facilities to prepare the students for IOT industry-readiness.
DM3: To become entrepreneurs that support economic development and global service.
DM4: To carry out quality research for industry and social needs.

PROGRAMME EDUCATIONAL OBJECTIVES (PEOs)
The students of B.Tech CSE-IoT are prepared to:

PEOI: To provide students with the knowledge and skills in the field of Internet of Things and its
applications.
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PEOII: To develop students with the ability to work effectively in teams so as to make a positive
contribution towards the society.

PEOIII: | To Enable the students with continuous learning and adapt new IoT technologies

PEOIV: | : To promote the students with the ability to pursue their careers in teaching, research, innovation,
and management.

PROGRAM OUTCOMES(POs)&PROGRAMSPECIFICOUTCOMES(PSOs)

PO

Description

PO1 Engineering Knowledge: Apply the knowledge of mathematics, science, engineering fundamentals,
andanengineeringspecializationtothesolutionofcomplexengineeringproblems.

PO2

ProblemAnalysis:ldentify,formulate,reviewresearch literature,andanalyzecomplex engineering
problemsreachingsubstantiatedconclusions usingfirstprinciplesof
mathematics,naturalsciences,andengineeringsciences.

PO3

Design/developmentofSolutions:Designsolutionsforcomplexengineeringproblemsanddesignsystemcomponents
orprocesses thatmeetthespecifiedneedswithappropriateconsiderationforthe
publichealthandsafety,andthecultural,societal,andenvironmentalconsiderations.

PO4

Conductinvestigationsofcomplexproblems:Useresearch-
basedknowledgeandresearchmethodsincludingdesignofexperiments, analysis
andinterpretationofdata,andsynthesisoftheinformationto
providevalidconclusions.

PO5

Moderntoolusage:Create,select,andapplyappropriatetechniques,resources,andmodernengineeringandI Ttools
includingpredictionandmodelingtocomplexengineeringactivities withanunderstanding
ofthelimitations.

PO6

The engineer and Society: Apply reasoning informed by the contextual knowledge to assess societal, health,
safety,legalandculturalissuesandtheconsequentresponsibilitiesrelevanttotheprofessional
engineeringpractice.

PO7

Environmentandsustainability:Understandtheimpactof theprofessionalengineeringsolutionsin
societalandenvironmentalcontexts,anddemonstratetheknowledgeof,andneed forsustainabledevelopment.

POS8 Ethics: Applyethicalprinciplesandcommit toprofessionalethicsandresponsibilitiesandnormsofthe
engineeringpractice

PO9 Individualandteamwork:Function effectivelyasan individual,andasamemberorleader indiverse
teams,andinmultidisciplinarysettings.

Communication: Communicateeffectivelyoncomplexengineeringactivitieswiththeengineering

PO10 community andwithsociety atlarge,suchas,being able tocomprehendandwrite effectivereports and
designdocumentation,makeeffectivepresentations, andgiveandreceiveclearinstructions.
POL1 Projectmanagementandfinance: Demonstrateknowledgeandunderstandingoftheengineeringand

managementprinciplesandapplythesetoone’sownwork,asamemberandleaderinateam,tomanageprojectsandinmultidisc
iplinaryenvironments.

PO12 | Life-longlearning:Recognizetheneedfor,andhavethepreparationandabilitytoengageinindependent
andlife-longlearningin thebroadestcontextoftechnologicalChange.

PSO 1

Develop proficiency and innovation in the areas of 10T, Data Science and Artificial Intelligence.

PSO 2

Apply innovatory technologies and tools in sensing and computing to solve multidisciplinary
challenges in society.
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PSO 3 Demonstrate engineering practice learned through industry to apply solutions through software
applications and sensors.

GENERAL INSTRUCTIONS

e Students are instructed to come to Laboratory on time. Late comers arenot entertained in the lab.

¢ Students should be punctual to the lab. If not, they conducted experiments will not be repeated.

e Students are expected to come prepared at home with the experiments which are going to be performed.

e Students are instructed to display their identity cards before entering into the lab.

e Students are instructed not to bring mobile phones to the lab.

e Any damage/loss of system parts like keyboard, mouse during the lab session, it is student’s responsibility and
penalty or fine will be collected from the student.

e Students should update the records and lab observation books session wise. Before leaving the lab the student should
get his lab observation book signed by the faculty.

e Students should submit the lab records by the next lab to the concerned faculty members in the staffroom for their
correction and return.

e Students should not move around the lab during the lab session.

e |If any emergency arises, the student should take the permission from faculty member concerned in written format.

e The faculty members may suspend any student from the lab session on disciplinary grounds.
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WEEK-1

Write C programs to simulate the following CPU Scheduling algorithms.

a) FCFS

b) SJF

¢) Round Robin
d) Priority

a)FCFS (First Come First Serve)

Aim: Write a C program to implement the various process scheduling mechanisms such as FCFS

scheduling.

Algorithm:

1: Start the process

2: Accept the number of processes in the ready Queue

3: For each process in the ready Q, assign the process id and accept the CPU burst time

4: Set the waiting of the first process as ‘0" and its burst time as its turn around time

5: for each process in the Ready Q calculate

a. Waiting time for process(n)= waiting time of process (n-1) + Burst time of process(n-1)
b. Turnaround time for Process(n)= waiting time of Process(n)+ Burst time for process(n)
6: Calculate

a. Average waiting time = Total waiting Time / Number of process

b. Average Turnaround time = Total Turnaround Time / Number of process

7: Stop the process
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#include<stdio.h>
int main()
{
int bt[20].p[20].wt[20].tat[20].i.j.n.total=0.pos.temp:
float avg_wt.avg_tat;
printf("Enter number of process:"):
scanf("%d",&n):
printf("\nEnter Burst Time:\n"):
for(i=0:1<n:i++)
{
printf("p % d:".i+1);
scanf("%d".&bt[i]):
pli]=i+1: /Icontains process number
}
wt[0]=0: //waiting time for first process will be zero
/[calculate waiting time
for(i=1:1<n:i++)
{
wt[i]=0:
for(j=0:j<iz;j++)
witli]+=bt[j]:

total+=wt[i]:
}
avg_wit=(float)total/n:  //average waiting time
total=0;
printf("\nProcess\t Burst Time \tWaiting Time\tTurnaround Time"):
for(i=0:i<n:i++)
{
tat[i]=bt[i]+wt[i]: //calculate turnaround time
total+=tat[i]:
printf("\npZ%d\t\t. %d\t\t  %ed\t\t\t%d".p[i].bt[i].wt[i].tat[i]):
]

avg_tat=(float)total/n:  //average turnaround time
printf("\n\nAverage Waiting Time=%f".avg_wt);
printf("\nAverage Turnaround Time=%f\n".avg_tat):
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Output:
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b) SJF (Shortest Job First)

Aim: Write a C program to implement the various process scheduling mechanisms such as SJF
Scheduling.

Algorithm:
1: Start the process
2: Accept the number of processes in the ready Queue

3: For each process in the ready Q, assign the process id and accept the CPU burst time 4: Start
the Ready Q according the shortest Burst time by sorting according to lowest to highest burst
time.

5: Set the waiting time of the first process as ‘0" and its turnaround time as its burst time.

6: For each process in the ready queue, calculate

(@) Waiting time for process(n)= waiting time of process (n-1) + Burst time of process(n-1)
(b) Turn around time for Process(n)= waiting time of Process(n)+ Burst time for process(n)
7: Calculate

(c) Average waiting time = Total waiting Time / Number of process

* Average Turnaround time = Total Turnaround Time / Number of process
8: Stop the process
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Program:

#include<stdio.h>
int main()
{
int bt[20].p[20].wt[20].tat[20].i,j.n.total=0.pos.temp:
float avg_wt.avg_tat;
printf("Enter number of process:"):
scanf("%d".&n):

printf("\nEnter Burst Time:\n"):
for(i=0:i<n:i++)
{
printf("p%d:".i+1):
scanf("%d".&bt[i]):
plil=i+l: //contains process number
}
/Isorting burst time in ascending order using selection sort
for(i=0:i<n:i++)
{
pos=i:
for(j=i+1:j<n:;j++)
{
if(bt[j]<bt[pos])
pos=j:
!
temp=bt[i]:
bt[i]=bt[pos]:
bt[pos]=temp:

temp=pl[i]:

plil=p[pos]:

plpos]=temp:
}

wt[0]=0; /Iwaiting time for first process will be zero

/Icalculate waiting time
for(i=1:i<n:i++)
{

wit[i]=0:
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for(j=0:j<i;j++)
wifi]+=bt[j];

total+=wt][i];

avg_wt=(float)total/n:  //average waiting time

total=0;

printf("\nProcess\t Burst Time \tWaiting Time\tTurnaround Time");
for(i=0:i<n:i++)
{
tat[i]=bt[i]+wt[i]:  //calculate turnaround time
total+=tat[i]:
printf("\np%d\t\t %ed\t\t  Ted\t\t\t%d",p[i].bt[i],wt[i].tat[i]):

avg_tat=(float)total/n:  //average turnaround time
printf("\n\nAverage Waiting Time=%{".avg_wt);

printf("\nAverage Turnaround Time=%f\n".avg_tat):

Output:
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¢) Round Robin

Aim: Write a C program to implement the various process scheduling mechanisms such as Round
Robin Scheduling.

Algorithm
1: Start the process

2: Accept the number of processes in the ready Queue and time quantum (or) time slice
3: For each process in the ready Q. assign the process id and accept the CPU burst time
4: Calculate the no. of time slices for each process where

No. of time slice for process(n) = burst time process(n)/time slice

5: If the burst time is less than the time slice then the no. of time slices =1.

6: Consider the ready queue is a circular Q, calculate

(a) Waiting time for process(n) = waiting time of process(n-1)+ burst time of process(n-1 ) +
the time difference in getting the CPU from process(n-1)

(b) Turn around time for process(n) = waiting time of process(n) + burst time of process(n)+ the
time difference in getting CPU from process(n).

7: Calculate

(@) Average waiting time = Total waiting Time / Number of process

(b) Average Turnaround time = Total Turnaround Time / Number of process Step 8: Stop the
process
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Program:
#include<stdio.h>
main()

{
int st[10],bt[ 10].wt[10].tat[ 10].n,tq;
int i,count=0,swt=0,stat=0,temp,sq=0:
float awt,atat;
printf("enter the number of processes");

scanf("%d",&n);

printf("enter the burst time of each process /n");

for(i=0si<nii++)
{
printf(("p%d",i+1);
scanf("%d" .&bt[i]);
st[i]=bt[i]:
}
printf("enter the time quantum");

scanf("%d",&tq);

while(1)
{
for(i=0,count=0:i<n;i++)
{
temp=tq;:
if(st]i]==0)
{
count++;
continue;
}
if(st[i]>tq)

stli]=st[i]-tq:

10
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else

if(st[i]>=0)

{
temp=st[i];
st[i]=0;

}

sq=sq+temp:

tat[i]=sq:

}
if(n==count)
break:

}

for(i=0:i<n:i++)

{
wt[i]=tat[i]-bt[i]:
swt=swt+wt|i]:
stat=stat+tat[i];

}

awt=(float)swt/n;

atat=(float)stat/n;

printf("process no\t burst time\t waiting time\t turnaround time\n");
for(i=0:i<n:i++)

printf("%d\t\t %d\t\t %d\i\t %ed\n",i+1,bt[i]l.wt[i],tat[i]):

printf("avg wt time=%f,avg turn around time=%f",awt,atat);

11
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Output:

12
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d) Priority

Aim: Write a C program to implement the various process scheduling mechanisms such as
Priority Scheduling.

Algorithm:
1: Start the process
2: Accept the number of processes in the ready Queue

3: For each process in the ready Q. assign the process id and accept the CPU burst time 4: Sort
the ready queue according to the priority number.
5: Set the waiting of the first process as ‘0" and its burst time as its turn around time

6: For each process in the Ready Q calculate

(e) Waiting time for process(n)= waiting time of process (n-1) + Burst time of process(n-1)
(f) Turn around time for Process(n)= waiting time of Process(n)+ Burst time for process(n)
7: Calculate

(g) Average waiting time = Total waiting Time / Number of process

(h) Average Turnaround time = Total Turnaround Time / Number of process Step 8: Stop the
process

13
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Program:

#include<stdio.h>
int main()
{
int bt[20],p[20],wt[20].tat[20].pri[20].i.j.k.n.total=0,pos,temp:
float avg_wt,avg_tat;
printf("Enter number of process:");
scanf("%d" . &n):

printf("\nEnter Burst Time:\n");
for(i=0:i<n:i++)
{
printf("p%d:".i+1):
scanf("%d",&bt[i]):
pli]=i+1; //contains process number
}
printf(" enter priority of the process ");
for(i=0:i<n:i++)
{
plil =1i;
/fprintf("Priority of Process");
printf("p%d ".i+1):
scanf("%d".&pri[i]);
}
for(i=0:i<n:i++)
for(k=i+1:k<n:k++)
if(pri[i] > pri[K])
{
temp=pli]:
plil=plk]:
plk]=temp:

temp=bt[i];
bt[i]=bt[k]:
bt[k]=temp:

temp=prili]:
prili]=pri[k]:
pri[k]=temp:
}
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wt[0]=0: /lwaiting time for first process will be zero

/lcalculate waiting time
for(i=1:i<n:i++)
{
wi[i]=0;
for(j=0:j<i:j++)
wt[i]+=bt[j]:

total+=wt|i];
}
avg_wt=(float)total/n;  //average waiting time
total=0;

printf("\nProcess\t Burst Time \tPriority \tWaiting Time\UTurnaround Time"):

for(i=0:i<n;i++)
{

tat[i]=bt[i]+wt[i]: //calculate turnaround time

total+=tat|i];

printf("\npZ%d\t\t %ed\t\t %d\t\t %ed\t\t\t%d" p[il.bt[i].pri[i].wt[i].tat[i]);
}

avg_tat=(float)total/n;  //average turnaround time
printf("\n\nAverage Waiting Time=%{".avg_wt);
printf("\nAverage Turnaround Time=%f\n",avg_tat);

15
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Output:

16
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WEEK-2

Write programs using the I/0 system calls of UNIX/LINUX operating system (open, read,
write, close, fentl, seek, stat, opendir, readdir)

Aim: C program using open, read. write, close system calls

Theory:
There are 5 basic system calls that Unix provides for file I/O.
1. Create: Used to Create a new empty file
Syntax :int creat(char *filename, mode_t mode)
filename : name of the file which you want to create
mode : indicates permissions of new file.
2 open: Used to Open the file for reading, writing or both.
Syntax: int open(char *path, int flags [ , int mode | ):
Path : path to file which you want to use
flags : How you like to use
O_RDONLY: read only. O_WRONLY: write only. O_RDWR: read and write. O_CREAT: create
file if it doesn’t exist, O_EXCL: prevent creation if it already exists
3 close: Tells the operating system you are done with a file descriptor and Close the file
which pointed by fd.
Syntax: int close(int fd):
fd :file descriptor

4. read: From the file indicated by the file descriptor fd. the read() function reads cnt bytes
of input into the memory area indicated by buf. A successful read() updates the access time for the
file.

Syntax: int read(int fd. char *buf, int size):
fd: file descripter
buf: buffer to read data from
cnt: length of buffer
5. write: Writes cnt bytes from buf to the file or socket associated with fd. cnt should not be
greater than INT_MAX (defined in the limits.h header file). If cnt is zero, write() simply returns 0
without attempting any other action.
Syntax: int write(int fd. char *buf, int size):
fd: file descripter
buf: buffer to write data to
cnt: length of buffer

*File descriptor is integer that uniquely identifies an open file of the process.

17
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Algorithm
1. Star the program.

2. Open afile forO_RDWR for R/W.,O_CREATE for creating a file O_TRUNC for truncate

a file.
Using getchar(), read the character and stored in the string[] array.
The string [] array is write into a file close it.

N w

close the file.
6. Stop the program.

Program
#include<sys/stat.h>
#include<stdio.h>
#include<fentl.h>
#include<sys/types.h>
int main()
{
int n,i=0:
int f1.£2:
char c.strin[ 100]:
fl1=open("data”".O_RDWR|O_CREAT|O_TRUNC);
while((c=getchar())!="n")
{

strinfi++]=c;

}

strin[i]="0";

write(f1,strin,i);

close(f1):
f2=open("data",O_RDONLY);
read(f2,strin.0);
printf("\n%s\n" strin):
close(f2):
return 0;

Output:
Hai
Hai

Then the first is opened for read only mode and read the characters and displayed it and

18
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b) Aim: C program using Iseek
Theory:
Iseek is a system call that is used to change the location of the read/write pointer of a file descriptor.
The location can be set either in absolute or relative terms.
Syntax : off_t Iseek(int fildes. off_t offset, int whence);
int fildes : The file descriptor of the pointer that is going to be moved.
off_t offset : The offset of the pointer (measured in bytes).
int whence : Legal values for this variable are provided at the end which are
SEEK_SET (Offset is to be measured in absolute terms), SEEK_CUR (Offset is to be measured
relative to the current location of the pointer), SEEK_END (Offset is to be measured relative to
the end of the file)

Algorithm:

1. Start the program

2. Open a file in read mode

3. Read the contents of the file

4. Use Iseek to change the position of pointer in the read process
5. Stop

19



OS VIVA QUESTIONS

Program:
#include<stdio.h>
#include <unistd.h>
#include <fcntl.h>
#include <sys/types.h>

int main()

{
int file=0:
if((file=open("testfile.txt".O_RDONLY)) < -1)
return 1:

char buffer[19]:
if(read(file.buffer.19) != 19) return 1:
printf("%s\n".buffer):

if(Iseek(file.10.SEEK_SET) < 0) return 1:

if(read(file.buffer.19) != 19) return 1:
printf("%s\n".buffer):

return O:

20
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¢) Aim: © program using opendir(), closedir(), readdir()

Theory:

The following are the various operations using directories

I. Creating directories.
Syntax : int mkdir(const char *pathname, mode_t mode);
2. The *pathname’ argument is used for the name of the directory.
3. Opening directories
Syntax : DIR *opendir(const char *name);
4. Reading directories.
Syntax: struct dirent *readdir(DIR *dirp):
5. Removing directories.
Syntax: int rmdir(const char *pathname);
6. Closing the directory.
Syntax: int closedir(DIR *dirp);
7. Getting the current working directory.
Syntax: char *getewd(char *buf, size_t size);
Algorithm:
. Start the program
2. Print a menu to choose the different directory operations
3. To create and remove a directory ask the user for name and create and remove the same
respectively.
4. To open a directory check whether directory exists or not. If yes open the directory .If it
does not exists print an error message.
5. Finally close the opened directory.
6. Stop
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Program:

#include<stdio.h>

#include<fentl.h>

#include<dirent.h>

main()

{

char d[10]: int c.op: DIR *e;

struct dirent *sd;

printf("**menu**\nl.create dir\n2.remove dir\n 3.read dir\n enter ur choice");
scanf("%d".&op):

switch(op)

{

case 1: printf("enter dir name\n"); scanf("%s",&d):
c=mkdir(d,777);

if(c==1)

printf("dir is not created");

else

printf("dir is created"); break;

case 2: printf("enter dir name\n"); scanf("%s",&d);
c=rmdir(d);

if(c==1)

printf("dir is not removed");

else

printf("dir is removed"); break:

case 3: printf("enter dir name to open");
scanf("%s",&d);

e=opendir(d):

if(e==NULL)

printf("dir does not exist"); else

{

printf("dir exist\n"); while((sd=readdir(e))!=NULL) printf("%s\t",sd->d_name);
1

closedir(e):

break:

!

}
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WEEK -3

Write a C program to simulate Bankers Algorithm for Deadlock Avoidance and Prevention

a) Aim
Write a C program to simulate the Bankers Algorithm for Deadlock Avoidance.
Data structures
ks

bl

Al

)

n- Number of process, m-number of resource types.

Available: Available[j]=k. k — instance of resource type Rj is available.
Max: If max [i, j]=k, Pi may request at most k instances resource Rj.
Allocation: If Allocation [i, j]=k, Pi allocated to k instances of resource Rj
Need: If Need[I, j]=k, Pi may need k more instances of resource type Rj,
Need [1, j] =Max [1, j]-Allocation [, j];

Safety Algorithm
l.

w1

s B o

Work and Finish be the vector of length m and n respectively, Work=Available and
Finish[i] =False.

Find an i such that both

Finish[i] =False

Need<=Work

If no such I exist go to step 4.

work=work+Allocation, Finish[i] =True;

If Finish [1] =True for all I, then the system is in safe state.

Resource request algorithm
l.

w1

P

A

*

Let Request i be request vector for the process Pi, If request i=[j]=k, then process Pi wants
k instances of resource type Rj.

If Request<=Need I go to step 2. Otherwise raise an error condition.

If Request<=Available go to step 3. Otherwise Pi must since the resources are available.
Have the system pretend to have allocated the requested resources to process Pi by
modifying the state as follows;

Available=Available-Request I;

Allocation I =Allocation+Request I;

Need i=Need i-Request I;

If the resulting resource allocation state is safe, the transaction is completed and process Pi is

allocated its resources. However, if the state is unsafe, the Pi must wait for Request i and the old

resource-allocation state is restore.
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Algorithm:

1. Start the program.
Get the values of resources and processes.
Get the avail value.

W

After allocation find the need value.

Check whether it is possible to allocate.

If it is possible then the system is in safe state.
Else system is not in safety state.

© %N v e

. Or not if we allow the request.
10. Stop the program.

Program:
#include<stdio.h>

int main ()
{
int allocated[ 15][15], max[15][15]. need[15][15], avail[15], tres[15],
work][ 15], flag[15]:
int pno, rno, i, j, pre, count, t, total;
count = 0;
/lclrser ();

printf ("\n Enter number of process:");
scanf ("%d", &pno);
printf ("\n Enter number of resources:"):
scanf ("%d", &rno);
for (i=1:1 <= pno; i++)

{

flag[i] = 0;

}
printf ("\n Enter total numbers of each resources:"):
for (i=1;1<=ro; i++)

scanf ("%d", &tres[i]);

printf ("\n Enter Max resources for each process:");
for (i=1;1 <= pno; i++)

{

If the new request comes then check that the system is in safety.
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printf ("\n for process %d:", i);
for (j = 1:j <=rno; j++)
scanf ("%d", &max[i][j]):

printf ("\n Enter allocated resources for each process:");
for (i=1:1i <= pno: i++)
{
printf ("\n for process %d:", i):
for (j=1;j <=rno: j++)
scanf ("%d", &allocated[i][j]):

}

printf ("\n available resources:\n"):
for (j = 1;j <= mo; j++)

{
avail[j] = 0;
total = 0;
for (i=1;1i <= pno; i++)
{
total += allocated[i][j]:
}

avail[j] = tres[j] - total;
work[j] = avail[j]:
printf (" %d \t", work[j]);

}
do
{
for (i=1;1 <= pno; i++)
{
for (j = 1:j <=rno; j++)
{
need[i][j] = max[i][j] - allocated[i][j]:
}
}
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printf ("\n Allocated matrix Max  need"):
for (i= 1:1 <= pno; i++)
{
printf ("\n");
for (j = 1: j <= rmo: j++)
{
printf ("%4d", allocated([i][j]):
}
printf ("[");
for (j = 1: j <=ro; j++)
{
printf ("%4d", max[i][j]):
}
printf ("|");
for (j = 1:j <= mo: j++)
{
printf ("%4d", need[i][j]);
}
}

prc =0;

for (i=1:1 <= pno; i++)

{
if (flag[i] == 0)
{
pre =i:
for (j = 1: j <= rno: j++)
{
if (work[j] < need[i][j])
{
prc =0
break:
}
}
}
if (prc !=0)
break:
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if (prc !=0)
{
printf ("\n Process %d completed”, i);
count++;
printf ("\n Available matrix:");
for (j = 1. j <=rno; j++)
{
work[j] += allocated[prc]|j]:
allocated[prc](j] = 0:
max|[prc][j] = 0:
flag[prc] = 1.
printf (" %d", work[j]):

}
while (count != pno && pre !=0):

if (count == pno)
printf ("\nThe system is in a safe state!!");
else
printf ("\nThe system is in an unsafe state!!"):
return 0;
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Output:
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b) Aim

Write a C program to simulate Bankers Algorithm for Deadlock Prevention

Algorithm:

1. Start

2. Attacking Mutex condition : never grant exclusive access. but this may not be possible for
several resources.

3. Attacking preemption: not something you want to do.

4. Attacking hold and wait condition : make a process hold at the most 1 resource at a
time.make all the requests at the beginning. All or nothing policy. If you feel.retry. eg. 2-
phase locking 34

5. Attacking circular wait: Order all the resources. Make sure that the requests are issued in
the correct order so that there are no cycles present in the resource graph. Resources
numbered 1 ... n. Resources can be requested only in increasing order. ie. you cannot
request a resource whose no is less than any you may be holding.

6. Stop

Program:
#include<stdio.h>

int max[10][10].alloc[10][10].need[10][10],avail[10].i.j,p,r.finish[ 10]={ 0} .flag=0;
main( )

{

printf("\n SIMULATION OF DEADLOCK PREVENTION \n ");
printf("Enter no. of processes. resources\n ");

scanf("%d%d" ,&p.&r):

printf("Enter allocation matrix");

for(i=0:i<p:i++)

for(j=0:j<rij++)

scanf("%d" . &alloc[i][j]):

printf("\n enter max matrix");

for(i=0:i1<p:i++) /*reading the maximum matrix and availale matrix*/
for(j=0:j<rij++)

scanf("%d" .&max[i][j]);

printf(" \n enter available matrix");

for(i=0:1<r;i++)

scanf("%d".&avail[i]):
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for(i=0:i<p:i++)
for(j=0:j<rij++)
need[i][j]=max[i][j]-alloc[i][j]:
fun(): /*calling function*/

if(flag==0)
{if(finish[i]!=1)
{

printf("\n Failing :Mutual exclusion"):

for(j=0:j<rij++)

{ /*checking for mutual exclusion®/

if(avail[j]<need[i][j])

avail[j]=need[i][j]:

Hun():

printf("\n By allocating required resources to process %d dead lock is prevented ".i):
printf("\n lack of preemption”);

for(j=0:j<rj++)

{

if(avail[j]<need[i][j])

avail[j]=need[i][j]:

allocli][j]=0:

}

fun( ):

printf("\n dead lock is prevented by allocating needed resources"):

printf(" \n failing:Hold and Wait condition ");

for(j=0:j<rij++)

{ /*checking hold and wait condition*/

if(avail[j]<need[i][j])

avail[j]=need[i][j]:

}

fun( ):

printf("\n AVOIDING ANY ONE OF THE CONDITION, U CAN PREVENT DEADLOCK"):

}
}
}
fun()
{
while(1)
{
for(flag=0,i=0:i<p:i++)
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{

if(finish[i]==0)

{

for(j=0j<rij++)

{
if(need|i][j]<=avail[j])
continue;

else

break;

}

if(j==r)

{

for(j=0j<rij++)
avail[j]+=alloc[i][j]:
flag=1;

finish[i]=1;

}

}

}
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Output:
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WEEK-4
Write a C program to implement the Producer — Consumer problem using semaphores using
UNIX/LINUX system calls.

Aim:

Write a C program to implement the Producer — Consumer problem using semaphores using
UNIX/LINUX system calls.

Algorithm:

1.

w9

The Semaphore mutex, full & empty are initialized.
In the case of producer process
Produce an item in to temporary variable.
If there is empty space in the buffer check the mutex value for enter into the critical section,
If the mutex value is 0, allow the producer to add value in the temporary variable to the
buffer.
In the case of consumer process
i) It should wait if the buffer is empty
i) If there is any item in the buffer check for mutex value, if the mutex==0, remove
item from buffer
iii) Signal the mutex value and reduce the empty value by 1.
iv) Consume the item.
Print the result
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Program:

#include<stdio.h>
#include<stdlib.h>

int mutex = 1, full =0, empty =3, x =0;

int main ()
{
int n;
void producer ():
void consumer ():
int wait (int);
int signal (int);
printf ("\nl.Producer\n2.Consumer\n3.Exit"):
while (1)
{
printf ("\nEnter your choice:");
scanf ("%d", &n):
switch (n)
{
case 1:
if ((mutex == 1) && (empty !=0))
producer ();
else
printf ("Buffer is full!!"):
break:
case 2:
if ((mutex == 1) && (full !=0))
consumer ():
else
printf ("Buffer is empty!!"):
break:
case 3:
exit (0):
break:
}

return 0;
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int wait (int s)
{

return (--s):

J

int signal (int s)
{
return (++s);

J

void producer ()

{
mutex = wait (mutex):
full = signal (full):
empty = wait (empty):
X++;

printf ("\nProducer produces the item %d", x):

mutex = signal (mutex);

void consumer ()
{
mutex = wait (mutex);
full = wait (full):
empty = signal (empty);
printf ("\nConsumer consumes item %d", x):
X--1
mutex = signal (mutex);
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Output:
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Week: 5§
Write C programs to illustrate the following IPC mechanisms

Aim: Write C programs to illustrate the following IPC mechanisms

GO 4

1. Start the program.

2. Declare the variables.
3. Read the choice.

Create a piping processing using [PC.
Assign the variable lengths

“strepy " the message lengths.

To join the operation using IPC .
Stop the program

®© N AWk
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Program : ( PIPE PROCESSING)

#include <unistd.h>

#include <stdlib.h> #include <stdio.h>

#include <string.h> #define MSG_LEN 64 int main(){

Int result;

int fd[2];

char message[MSG_LEN];

char recvd_msg[MSG_LE]; result = pipe (fd);

//Creating a pipe//fd[0] is for reading and fd[ 1] is for writing if (result < 0){

perror("pipe "); exit(1);

}

strnepy(message,"Linux World!! " MSG_LEN); result=write(fd[ 1],message,strlen(message)); if (result
<0

perror("write"); exit(2);

}

strnepy(message,"Understanding ",MSG_LEN); result=write(fd[ 1 ],message,strlen(message)); if
(result < 0){

perror("write"); exit(2);

}

strnepy(message,"Concepts of ",MSG_LEN); result=write(fd[ | |, message.strlen(message)); if (result <
0){

perror("write"); exit(2);
}
strnepy(message,"Piping ", MSG_LEN); result=write(fd[ | |, message strlen(message)); if (result < 0){

perror("write"); exit(2);

J

result=read(fd[0],recvd_msg, MSG_LEN);: if (result < 0){

perror("read"); exit(3):

}

printf("%s\n" recvd_msg): return 0;

J

a) FIFO
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Program:

#include <stdio.h>
#include <stdlib.h>
#include <sys/stat.h>
#include <unistd.h>

#include <linux/stat.h>
#define FIFO_FILE "MYFIFO"

int main(void)

{
FILE *fp;
char readbuf[80];

/* Create the FIFO if it does not exist */
umask(0);
mknod(FIFO_FILE, S_IFIFO|0666, 0):

while(1)

{
fp = fopen(FIFO_FILE, "r");
fgets(readbuf, 80, fp):
printf("Received string: %s\n". readbuf);
fclose(fp):

}

return(0);

41



OS VIVA QUESTIONS

#include <stdio.h>
#include <stdlib.h>

#define FIFO_FILE "MYFIFO"

int main(int arge, char *argv[])

{
FILE *fp;
if (arge!'=2) {
printf("USAGE.: fifoclient [string]\n");
exit(1);
}
if((fp = fopen(FIFO_FILE, "w")) == NULL) {
perror("fopen");
exit(1);
}
fputs(argv([1], fp);
fclose(fp);
return(0);
}
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C Program for Message Queue (Writer Process)

#include <stdio.h>
#include <sys/ipc.h>
#include <sys/msg.h>

/f structure for message queue
struct mesg_buffer {

long msg_type;

char msg_text[100];
} message;

int main()
{
key_t key:
int msgid:
/I ftok to generate unique key
key = ftok("progfile", 65);
/l msgget creates a message queue
// and returns identifier
msgid = msgget(key, 0666 | [IPC_CREAT);
message.mesg_type = 1;

printf("Write Data : ");
gets(message.mesg_text);

// msgsnd to send message
msgsnd(msgid, &message, sizeof(message), 0);

// display the message
printf("Data send is : %s \n", message.mesg_text);

return 0;

}

C Program for Message Queue (Reader Process)
#include <stdio.h>

#include <sys/ipc.h>

#include <sys/msg.h>

// structure for message queue
struct mesg_buffer {
long mesg_type:
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char mesg_text[100];
} message;

int main()

{
key_t key;
int msgid:

/I ftok to generate unique key
key = ftok("progfile", 65):

// msgget creates a message queue and returns identifier
msgid = msgget(key, 0666 | IPC_CREAT);
// msgrev to receive message
msgrev(msgid, &message, sizeof(message), 1, 0);

// display the message
printf("Data Received is : %s \n",
message.mesg_text);

// to destroy the message queue
msgetl(msgid, [IPC_RMID. NULL):

return 0

}

C Program for Message Queue (Reader Process)

#include <stdio.h>
#include <sys/ipc.h>
#include <sys/msg.h>
/l structure for message queue
struct mesg_buffer {
long mesg_type:
char mesg_text[ 100]:
} message;

int main()

{
key_t key:
int msgid:
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/I ftok to generate unique key
key = ftok("progfile". 65):

// msgget creates a message queue
// and returns identifier
msgid = msgget(key, 0666 | IPC_CREAT);

// msgrev to receive message
msgrev(msgid, &message, sizeof(message). 1. 0);

/I display the message
printf("Data Received is : %s \n".
message.mesg_text);

/ to destroy the message queue
msgctl(msgid, [IPC_RMID, NULL):

return 0:

}
OUTPUT: Thus the Piping process using IPC program was executed and verified successfully

[sree@localhost ~]$ cc pp.cC
[sree@localhost ~]$ ./a.out

Enter string:1

0s

er

a

tingEnter 1 array elementz:1
The string length=1
Sum=0[sree@localhost ~]$ er
bash: er: command not found
[sree@localhost ~]$ atingl
bash: atingl: command not found
[sree@localhost ~]$ gedit pp.c
[sree@localhost ~]$ cc pp.c
[sree@localhost ~]$ ./a.out
Linux World!!!

[sree@localhost ~]$ gedit pp.c
[sree@localhost ~]$ cc pp.c
[sree@localhost ~]$ ./a.out
Linux World!! Understanding Concepts of Piping ,
[sree@localhost ~]$ |}
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Week: 6
Aim: Write C programs to simulate the following memory management techniques

a) Paging

AIM: To write a C program to implement memory management using paging technique.

ALGORITHM:

Stepl : Start the program.

Step2 : Read the base address. page size, number of pages and memory unit.

Step3 : If the memory limit is less than the base address display the memory limit is less than limit.

Step4 : Create the page table with the number of pages and page address.

Step5 : Read the page number and displacement value.

Step6 : If the page number and displacement value is valid, add the displacement value with the address
corresponding to the page number and display the result.

Step7 : Display the page is not found or displacement should be less than page size.

Step8 : Stop the program.

Program:

#include<stdio.h>

#include<conio.h>

main()

{

int ms, ps, nop, np, rempages, i, j, X, y, pa, offset; int s[10], fno[10][20]:
printf("\nEnter the memory size -- ");

scanf("%d",&ms);

printf("\nEnter the page size -- ");

scanf("%d",&ps);

nop = ms/ps:

printf("\nThe no. of pages available in memory are -- %d ",nop);
printf("\nEnter number of processes -- "):

scanf("%d",&np);
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rempages = nop; for(i=1:;i<=np:i++)

{

printf("\nEnter no. of pages required for p[%d]-- ".i):
scanf("%d" ,&s[i]);

if(s[i] >rempages)

{

printf("\nMemory is Full"):

break:

}

rempages = rempages - s[i]:
printf("\nEnter pagetable for p[%d] --- ".i):
for(j=0:j<s[i]:j++)

scanf("%d" . &fnoli][j]):

}

printf("\nEnter Logical Address to find Physical Address ");

printf("\nEnter process no. and pagenumber and offset -- ");

scanf("%d %d %d".&x.&y. &offset):

if(x>np || y>=s[i] || offset>=ps)

printf("\nInvalid Process or Page Number or offset");
else

{

pa=fno[x][y]*ps+offset:

printf("\nThe Physical Address is -- %d".pa);

}
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getch();

OUTPUT:

nter the memory size -- 1000
nter the page size -— 200

he no. of pages available in memory are — 5

nter number of processes -- 2

nter no. of pages required for p[l]-

Inter Logical Address to find Physical Address

nter process no. and pagenumber and offset —— 1

he Physical Address is

. .Program finished with exit code 0

Pre ENTER to exit gunsvic.l
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b)  Segmentation

Aim: To write a C program to implement memory management using segmentation

Algorithm:

Step! : Start the program.

Step2 : Read the base address, number of segments, size of each segment, memory limit.

Step3 : If memory address is less than the base address display “invalid memory limit”.

Step4 : Create the segment table with the segment number and segment address and display it.

Step5 : Read the segment number and displacement.

Step6 : If the segment number and displacement is valid compute the real address and display the same. Step7 :
Stop the program.

Program:
#include<stdio.h>
#include<conio.h>
struct list

{

int seg;

int base;

int limit;

struct list *next;

}Ep:

void insert(struct list *q.int base,int limit,int seg)
{

if(p==NULL)

{
p=malloc(sizeof(Struct list));
p->limit=limit;
p->base=base:
p->seg=seg;
p->next=NULL;

}

else

{
while(g->next!=NULL)
{

Q=q->next;
Printf(*yes™)

}
g->next=malloc(sizeof(Struct list));
g->next ->limit=limit:
g->next ->base=base;
q->next ->seg=seg;
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g->next ->next=NULL;

}

}

int find(struct list *q,int seg)
{

while(q->seg!=seg)

{

q=q->next;

}

return ¢->limit;

J

int search(struct list *q.int seg)
{

while(q->seg!=seg)

{

(=q->next;

)

return ¢->base:

}

main()

{

p=NULL;

int seg,offset,limit,base,c,s,physical;
printf(*Enter segment table/n™);
printf(*“Enter -1 as segment value for termination\n™);
do

{

printf(*Enter segment number™);
scanf(*%d"”,&seg):

if(seg!=-1)

{

printf(*Enter base value:™):
scanf(*%d”,&base);

printf(*Enter value for limit:™);
scanf(**%d”.&limit);
insert(p,base,Imit,seg);

}

}

while(seg!=-1)

printf(*“Enter offset:™);
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scanf(*%d”.&offset);

printf(“Enter bsegmentation number:™);
scanf(“%d”,&seg);

c=find(p.seg);

s=search(p,seg):

if(offset<c)

{

physical=s+offset;

printf(**Address in physical memory %d\n”,physical):
}

else

{

printf(*error™);

}

OUTPUT:

Enter segment table

Enter -1 as segmentation value for termination
Enter segment number: 1

Enter base value:2000

Enter value for limit:100

Enter segment number:2

Enter base value:2500

Enter value for limit: 100

Enter segmentation number:- 1
Enter offset:90

Enter segment number:2

Address in physical memory 2590

Enter segment table

Enter -1 as segmentation value for termination
Enter segment number:1

Enter base value:2000

Enter value for limit: 100

Enter segment number:2

Enter base value:2500

Enter value for limit: 100

Enter segmentation number:- |
Enter offset:90

Enter segment number: |
Address in physical memory 20
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